


ordering code 7] & fC#5/ B SR TR A

MODEL
Ry

90

SIZE
R4
050

070

080
120
155

205

235

Notes of product ordering

i E HE R A 2T B AN EA

32

Ratio i #SEEE i
Li:

3.4.5.6.8.10
La:

8.12.15.16. 18,
20.24.25.30.232.
36,40, 48 64,100

ordering code RT &I/ SRAZ TR A

IER

MODEL
R

90

SIZE
A
080

ovo

080
120
155

205

235

32

Ratio | #iEEEi:
Lu:

3.4.5.6.8.10
Lz

9.12.15.16. 18,
20.24.25.30.32.
36.40. 48.64.100

IE series

Precision Planetary Gear Boxes

Rotio/i# i Lt i=3:1-100:1
Backlash/[o] #2 [4] B o < 2 arcmin
Output torque/E§4E ~ 2,000N.m
Frame size/f#i 5188 |E 050~|E 235
Pz - S2 - MOTOR
Backlasn Cutput | npurt
WH W e g R S e R
Po. d@8#  S1: shaft g
S2: shaft with key SRiE# ol i A TE
Pi: W& S3: splined shaft {EEH S R
PE: Hm 1{1: Hﬂ”ﬂw Shaﬂ ﬁ'}ll_, ﬁ%i!‘“ﬂiﬁ!
[ SRR | i
K2: Hollow with key B Fes

K3: SWpling hollow FESFL
T: Special require BPRBHRER

Standard connection if no mark
it R RS W

IER series

Precision Planetary Gear Boxes

Rotio/ i ¥ kb i=3:1-200:1
Backlash/[E 32 [&] B < 4 arcmin
Output torque/F§ 4 ~ 2,000N.m
Frame size/f# &) 9% |ER 050~|ER 235
Pz - S2 — MOTOR
Backlash Cutput | nput
WH e T
Pa: BN S1: shafl X6
S2. shaft with key E&#b BN R
P1: W& S3: splined shaft L=k S R
Pa. 4 K1: Hollow shaft ¥F. o= T
: [ ShEMRRETE | .
K2: Hollow with key B$@7L Fesd

K3: SWpline hollow FEEETL
T: Special require HPEHHEER

Stardard connection if no mark
Al e R S N W



BB AT e

oAl T T R
Wi S8 | EUER" | 1E050 | IEO07O0 | 1E090 |E120 | |E155 | IE205 | |E235
3 20 55 130 208 342 588 1,140
4 19 50 140 290 542 1,050 | 1,700
5 290 B0 180 330 50 1,200 | 2000
1 B 20 55 150 310 500 1,100 | 1,900
7 18 50 140 300 550 1100 | 1,800
8 17 45 120 260 500 1,000 | 1,600
g 14 40 100 230 450 ao0 1,500
10 14 40 100 230 450 800 1,500
15 20 55 130 208 342 588 1,140
20 10 50 140 200 542 1,050 | 1,700
FEE e T Nm 25 22 G0 160 330 650 1,200 | 2.000
10 20 55 150 310 500 1,100 | 1,900
35 19 50 140 300 550 1,100 | 1,800
40 17 45 120 260 500 1,000 | 1,600
2 45 14 40 100 230 450 900 1,500
50 29 B0 160 330 650 1,200 | 2,000
B0 20 55 150 310 [ 1,100 | 1,900
70 10 50 140 300 550 1,100 | 1,800
A0 17 45 120 20 500 1,000 | 1,600
a0 14 40 100 230 450 900 1,500
100 14 40 100 230 450 a00 1,500
SfEH 5 Toe Nm 12 | 3-100 MESEWMEHNE
EESABEN D rpm 1,2 | 3-100 5,000 5,000 | 4000 4000 | 3000 | 3000 | 2000
AN rpm 12 | 3-100 | 10000 | 10000 | 8000 8000 | e000 | soo0 | 4000
e e : 1 3-10 = =8 =8 =8 =8 =8 =8
il M ™2 195-100 | =12 | =12 | =12 | =12 | =12 | =12 | =12
HEme Nmaremin) 1.2 | 3-100 3 7 14 25 50 145 225
B E AF N 1.2 | 3-100 702 1377 | 2985 5100 | 8460 | 13,050 | B.700
FETIE R A1 Fas’ N 1.2 | 3-100 350 630 1,300 2400 | 4000 | 6200 | 4800
BFIE R 1 F e’ N 1.2 | 3-100 390 765 1,625 3,350 | 4,700 | 7,250 | 18,000
FEES hr 1,2 | 3-100 20,000°
1 3-10 =97%
i " 2 | 15-100 =04%
1 3-10 0.8 3.3 .9 13 31 53
=8 kg 2 | 15-100 | 08 . 47 8.7 17 35 66
ERERE t 12 | 3~100 —10C-+907C
HE 1,2 3-100 & EikiEmEs { NYOGEL 792D )
Wi £330 1,2 | 3-100 P65
=2EHm 1,2 | 3-100 FEHE
BEE ( n=3000mmER&E )| dB(A) 12 | 3-100 =56 =58 =< B0 =/3 =B5 ={7 =70
RiRHEETESE
% gw | sAuEEe’ | 1Eos0 | 1E070 [ 1 EQ90 |E120 | IE155 | IE205 | 1E235
3 0.03 0.16 0.61 3,25 9,21 2808 | 69.61
4 0,03 0,14 0,48 2,74 7.54 23,67 | 54,37
o] 0,03 0,13 0.47 2.7 7.5 23.29 5327
1 6 0.03 0.13 0.45 265 7.25 2275 | 51.72
7 0.03 0.13 0.45 2.62 7.14 2248 | 5007
a8 0,03 0,13 0,44 258 7.or 22,549 h0 .84
g 0.03 0.13 0.44 257 7.0 2253 | 5053
10 0.03 0.13 0.44 257 7.03 2251 | 50.56
15 0,03 0,03 013 0,47 2.7 742 23,29
20 0.03 0,03 0.13 0.47 2.71 7.42 | 23.29
R kg - cm? 25 0.03 0.03 0.13 0.47 271 7.42 | 23.29
30 0,03 0,03 013 0,47 2.7 742 23,29
a5 0.03 0.03 0.13 047 571 7.42 | 23.29
40 0.03 0.03 0.13 0.47 2.71 7.42 | 2329
dh 0,03 0,03 013 0,47 2. 742 23,29
2 50 003 | 0.03 0.13 044 | 2.57 703 | 2251
B0 0.03 0.03 0.13 0.44 257 7.03 | 2251
70 0,03 0,03 0,13 0,44 2 57 7.03 | 2251
a0 0,03 0,03 0.13 0,44 257 7.03 22 .51
90 0.03 0.03 0.13 0.44 2.57 7.03 | 2251
100 0.03 0.03 0.13 0.44 2 57 7.03 | 2251




BIRBEIMERE R
L1=152 Wi Lki=3~-10R <

1]
L2 LB | cs
L3 L1 11
D2 L7 11 lew Oc?
|
011
@
Bea8 411 . BT Tl
glelele| 1 TR ] . =30
— o
| [ || €
> s
L4 o
. 81 L& LS .
=/
g IIII
L9
L10
B mm
R |EQS0 |EQT0 |[EDS0 [E120 |E155 |[E205 |E235
D1 A4 62 60 108 140 184 210
D2 M4 = 0.7F M5 »« 0.BP MG x 1P M8 x 1.25P M10 x 1.5P Mi12x1.75P M16 x 2P
D3 s 12 16 22 32 40 55 75
D4 = 35 22 68 a0 120 160 180
D5 22 22 30 40 75 05 115
D& M4 x 0.7P M5 = 0.8P M8 x 1.25P M12 % 1.75P M16 x 2P M20 x 2.5P M20 x 2 5P
D7 53 70 104 130 162 205 280
D& 50 70 90 120 155 205 235
Da 45,5 53.4 77 102 125 160 205
L1 - — 33.5 38 50 — 70
L2 24,5 36 45 70 a7 100 126
L3 4 5.5 85 17.5 15 15 18
L4 1 1 1 1.5 3 3 3
L5 14 25 32 40 63 70 80
L& 2 2 3 5 5 (5] 7
L7 8 10 12 16 20 22 28
L8 A7 62 80.5 a7 1195 158 175.5
LD 4.5 4.6 7.2 10 12 15 15
L10 10 12,5 19 28 36 42 42
oy 46 70 100 130 165 215 235
C2 4 Md = 0. 7P M5 x 08P MG x 1P MR x 1.25F M10x 1.5P M12x1,75F P12 x 1.75P
c3 =11 *=14/=16 =10/=24 =32 = 38 =48 =55
C4* 30 34 40 50 &0 85 116
C5 *oe 30 50 80 110 130 180 200
e ” 3.5 2] 4 5 G & &
o A8 &0 a0 115 142 190 220
Cg * 10.5 19 17 19.5 225 29 53
Co 4 g1 117 143,5 186,5 239 288 364.5
c104 13.25 135 10.75 13 15 20,75 53.5
c114 19.5 a7 35.5 46 53,5 79.5 106.5
B1 ne 4 5 B 10 12 16 20
H1 14 18 24,5 35 43 59 78,5




BN 8 R~

L2=2F& Ei#Ekki=15-100R <}

Ca
L2 L& c8
C11
02 L3 | &1 —
L7 B _‘r_m
-
i 0 ,
i
SEEE R
alale|e -1 — a8
[ & 4’ :
h
e ] 8
5 B LB L5
e _:" I,.“
A S '|
L9
L10
B4r: mm
Rt |EQS0 |EOT70 |[EQS0 |[E120 I[E155 [E205 |[E235
D 44 B B 108 140 184 210
D2 M = 0. 7P M5 = 08P MG x 1P ME = 1.25P M10x1.5F M12 = 1. 7P M6 = 25F
D3e 12 16 22 32 40 55 75
Dd g6 a5 h2 [51a) a0 120 160 180
Ds 22 22 S0 40 Fiis 85 115
DG hd = 0. 7P M5 =0 .8BP ME = 1.25P M12=1.75P Mi1B = 2P M20 = 2.5P M20 = 2. 5P
o7 53 70 104 130 162 205 260
D8 50 Filh) a0 120 155 205 235
D9 455 455 53.4 Firi 102 125 160
L1 - - 33.5 38 50 - 70
L2 24.5 a6 465 70 a7 100 126
L3 4 6,5 B5 17.5 15 15 18
L4 1 1 1 1.5 3 3 3
LS 14 25 a2 40 63 70 a0
L& 2 2 3 5 5 & 7
LY B 10 12 16 20 22 2B
L8 a7 875 113.5 138.5 176 214.5 260
LY 4.5 4.8 7.2 10 12 15 15
L10 10 12.5 19 28 36 42 42
C1 s 46 45 TO 100 130 165 215
G2 5 Md = 0,7F M4d=07P M5 = 0,BP ME = 1P MEB % 1,25P M10 = 1,5P M12 % 1,75F
-3 " =11 "=11/=12 *=14/=15 875=18 =19/=24 =327 = 38 =48
Cc4° 30 30 34 40 5 B0 B5
LT 30 30 50 B0 110 130 180
i a.5 3.5 B 4 5 G 6
C7* 48 48 a0 an 115 142 190
i 18.5 18.5 19 17 185 225 29
9= 118 1438 178.5 2255 292.5 337 415
C108 13,25 13,25 13,5 10,75 13 15 20,75
11" 18,5 18,5 a7 35,5 46 53.5 785
Bl = 4 5 G 10 12 16 210
H1 14 18 2d4.5 a5 4.3 50 7a.5




IR R AT HE AR

R TR i R
i W | MaEL ' | |ERDS0 | |IERO70 | IERCS0 | IER120| IER155 | IER205 | [ER235
3 g 38 a0 195 342 588 1,140
4 12 48 120 260 520 1,040 1,680
5 15 &0 150 325 B50 1,200 | 2,000
B 18 55 150 310 B00 1,100 1,800
1 7 19 50 140 300 550 1,100 1,800
8 17 45 120 280 500 1,000 1,600
0 14 40 100 230 450 900 1,500
10 14 40 100 230 450 900 1,500
14 = 42 140 300 550 1,100 1,800
20 — 40 100 230 450 800 1,500
15 14 o e e - e a
20 14 - = e = £ -
M A Ton Nm 25 15 &0 150 325 650 1,200 | 2,000
30 20 55 150 310 BO0 1,100 1,600
35 19 50 140 300 550 1,100 1,800
40 17 45 120 260 500 1,000 1,600
45 14 40 100 230 A50) a00 1,500
2 50 14 &0 100 230 B50 1,200 | 2,000
&0 20 55 150 310 BO0 1,100 1,800
70 19 50 140 300 550 1,100 1,800
80 17 45 120 260 500 1,000 1,600
a0 14 40 100 230 A50 900 1,500
100 14 40 100 230 450 900 1,500
120 = it 150 310 &00 1,100 1,800
140 - - 140 300 550 1,100 1,800
160 s = 120 260 550 1,000 1,600
180 - = 100 230 450 800 1,500
200 = 2 100 230 450 800 1,500
BEHE T Nm 1,2 | 3-200 ItEEREH HE
AN FET rpm 1,2 | 3-200 | 5,000 | 5,000 4,000 4,000 | 3,000 3,000 2,000
A A FETan rpm 1,2 | 3-200 | 10,000 |[10,000 &,000 8,000 | 6,000 8,000 4,000
A N 1 3-20 =10 =10 =10 =10 =10 =10 =10
2 25200 =14 =14 =14 =14 =14 =14 =14
£ 0 i 1% NMmfaremin| 1.2 3-20 3 7 14 25 50 145 225
BHEE AR M 1,2 | 25-200 | 780 1,377 2 085 6,100 | 8460 |13,050 | 8700
FERFIE () 7 Foae® N 1,2 | 3-20 350 630 1,300 | 3000 | 4000 | 6200 4,800
FEurim 6 I F s N 1,2 | 25-200 | 390 765 1,625 | 3350 | 4,700 | 7.250 | 8,000
i S hr 1.2 3--200 20,0007
ik 1 3~-200 =05%
okl % 2 | 3-200 =92%
1 3-200 1.0 21 5.8 11.2 224 16.8 78.0
2R kg 2 3~200 1.3 2.0 4.5 11.1 218 43.7 81.9
&R G 1.2 | 3-20 —10C-+807T
R 1,2 | 25-200 & iERmIE (| NYOGEL 7920 )
EhaE =R 1.2 | 3-20 IPG5
S E 7 (] 1,2 |25-200 EEAM
B (n=3000rpm SR )| dB(A) 1,2 | 3-200 | =61 =63 =65 =68 =70 =72 | =74
IS EE
R s | MEE | |[ERDS0 | I[EROTO | IERD9O | I[ER120| IER155 | |IER205 | IER235
3-10 0,00 0,35 2,25 6,84 23,4 68,9 1354
1 14 - 0,07 1.87 6.25 21.8 65.6 116.8
20 2 0.07 1,87 6.25 21.8 B5.5 119.8
WER “g - cm? 15 0.09 P B 5 B i %
20 0.08 — — — — — -
& 25-100 0,00 0,09 0,35 2,25 7,84 23,4 58,9
120-200 a = 0.31 187 6,25 21,8 65,6

o
gt

- il iy




RIRBEIME R R <)
L1=152 i lki=3~20 R~F

L&
L2
oo L3, ] L Oc?
L7
S11=] =1 e — d N— -
glelala
s \ i
L4 |
|
= |
| I EINERECENET
@C3| =
G5 &
B1 L& LS
T
‘| |pa L9
oD
BT mm
R |[EROS0 |ERO70 |[EROS0 |[ER120 |IER155 |ER205 |[ER235
D1 44 62 80 108 140 184 210
D2 M4 x 0.7P ME x 0.8P MG = 1P M8 = 1.25F M10 x 1.5P Mi12 x1.75P M16 x 25P
D3 . 12 16 22 32 40 55 75
D4 s 35 52 68 a0 120 160 180
D5 22 22 30 40 75 85 115
D6 M4 x07P M5 = 0,BP M8 x 1.25P M12x1,75P M16 x 2P M20 x 2.5P M20 = 2,5F
o7 53 70 104 130 162 205 260
D8 50 70 80 120 155 205 235
L1 - — 33.5 a8 50 — 70
L2 24.5 a6 46 70 87 100 126
L3 4 6.5 85 17.5 15 15 18
L4 1 1 1 1.5 3 3 3
L5 14 25 32 40 63 70 80
LG 2 2 3 5 5 & K
L7 8 10 12 16 20 22 28
L8 47 146 201 252 324.5 379.5 461.5
L3 4.5 a8 - 10 12 15 15
L10 10 12.5 19 28 36 42 42
c14 46 70 100 130 165 215 235
ca - M4 x 0.7P M5 x 0.8P MG = 1P M8 x 1,25P M10 x 1.5P Mi12x1.75P | Mi12x1.75P
c3“ =11 *=14/=16 =19/=24 =32 =38 =48 =55
C4 “ a0 34 40 50 &0 &5 16
C5 “oe 30 50 a0 110 130 180 200
e “ 3.5 8 4 5 5] 3] 5]
c7* 48 &0 &) 115 142 190 220
cs* 19,5 19 17 19,5 22 5 29 63
ca 100 116.5 159.5 199 245.5 316 398.5
c1i0* 13.25 13,56 10,75 13 15 20,75 53.5
G114 74 815 107.5 134 164.5 2135 268.5
E1 he # ] & 10 12 16 50
H 1 14 18 24.5 35 43 59 /8.5

AL




IR SR8 R~

L2=2Fz i#i# Eki=25~200X <}

L&
L2
L3 Li
| LT Ocy
P | &3 |5F LG
) ] RS s M-t | Ch
glel|e
L4
B1 L& LS
DE w1
L10
Bfr: mm
Rt |[ERDS0 |[ERO70 |[EROS0 IER120 IER155 |[ER205 |IER235
D1 44 62 B0 108 140 184 210
D2 Md = 0.7P M5 x 08P MG x 1P M8 x 1.25F M10x 1.5P Mi12x 1.75P M16 x 25P
D3 e 12 16 22 32 40 25 75
04 gs 35 52 68 a0 120 160 180
D5 22 22 30 40 7h 95 115
D& M4 x0,7P M5« 0,8F M8 x1,25F [M12x=1,75F M16 = 2P M20 « 2 5F M20x 2,5P
o7 53 70 104 130 162 205 260
Dg 50 70 a0 120 155 205 235
L1 - - 335 38 50 - 70
L2 24.5 35 A6 70 a7 100 126
L3 4 6.5 8.5 17.5 15 15 18
L4 1 1 1 1.5 3 3 3
L5 14 25 32 40 63 70 a0
L& 2 2 3 5 5 (5] T
LY B 10 12 16 20 22 28
LE 1425 167.5 207.5 283 358 422 5 506.5
LS 4.5 4.8 7.2 10 12 15 15
L10 10 12.5 18 25 36 42 42
ey B 46 45 70 100 130 165 215
cg’ Md = 0.7P M4 = 0.7F Msx 0.8P ME = 1P M8 x 1,.25P M10 x 1.5P M12x1.75P
o =11 =11/=12 =14/=15875/=16| =19=24 =32 =38 =48
C4 5 30 30 34 40 50 B0 85
cs 5 30 30 50 &0 110 130 180
C6 Fas 3.5 3.5 8 4 5 6 3]
L 48 A8 &0 a0 115 142 120
cs® 19.5 19,5 19 17 18,5 22.5 29
Co® 100.5 109 1335 172.5 215 267 343.5
C10° 13.25 13.25 135 10.75 13 15 20,75
C1is 74 74 B15 107.5 134 164 .5 213.5
B1 na 4 5 5] 10 12 16 20
H 1 14 18 24 .5 35 43 59 79,5




EFACETAR Ac 14

@ D3

L3

D D4

L4

R 1 D2 03 D4 L1 L2 L3 L4
|EOS0i EROS0)—NEMAZ3 B6.675 B 77 38.1(38.15) §57.2 2 g 18.5
|EOS0(|EROSD)—PXE0 70 2.6 80,5 a0 &0 25 85 18,5
|EO70I ERO7O)—Metric 20 5.6 106 50 B0 3 11 28
|EOTO(| EROTO)—NEMASZ4 08.425 5.6 115 73.08 86 25 B 30.5
|EQ7O( ERO70)—DTA0/FP X80 100 6.6 120 80 a0 3 8 31
|EOS0(AEROS0}|EC 6305 B5 115 9 140 g5 105 3 10.5 38.5
|EOS0-NEMASS 08.425 55 122 73,025 g2 2.5 12,5 36
|EOS0-DT90/PX30 100 8.5 122 B0 g2 2.5 12,5 36
|EOB0( ERDOO)—NEMA42 125,73 i 144 55,58 107 4 14,5 35,5
|E120-NEMASL2 125,73 i 170 05,489 127 1.0 21,5 20
|[E120(|ER120)—NEMASSE 148,225 6.6 170 114.3 127 3 17.5 55,5
|E1585(|ER155)-B5 175 1 196 130 160 5 20 82
|E205(|ER205)—E5 230 13 277 180 210 5 23 82
|E235(|ER235)-B5 275 17 317 235 240 5 23 108




